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logarithm. V , Vy-Daten uy=(A — 550) / 50

logV =(logMq+ logLe)/2 logM;=—0,35[u)~Usa :

logVo=logV + 0,02
|Og [Voy V, Mo, Lo]

557
545 570

logL o=-0,35[uy~Us7d
Adaptation: Ay =557

maximum
Lo log(Vm)=-0,02
Vm=0,95
Schwelle
ta=0,00

7
F=3 VoV -1 0 1 3 Uy
400 500 550 600 700 A/nm

DGA90-1A 545,557,570

logV =(logMy+ logLg)/2

Uy=(A - 550) / 50

log Vg=(log M- logLo)/2 logMy=—0,35[u)~Usa :

logM =(logV - 1[logV4]) logLo=-0,35uy~Us7q
logL =(logV + 1[logVg]) Adaptation: A =557

0

maximum

log(Vm)=-0,02
Vm=0,95
Schwelle
tg=0,00

500 550 600 700 A/nm

DGA90-3A 545,557,570

logV =(log M+ logLe)/2 logMo=—0,35[uj—Us.]
log Vg=(log M- logLo)/2 logLo=-0,35uy~Us7q
logP =(logV - 2[logV4]) logP,=-0,35u)-u ]2
logO =(logV + 2[logVd]) logO,=-0,35Uy~Uss]?

557
545 570582

maximum

log(Vm)=-0,08
Vm=0,81
Schwelle

DGA90-5A 532,545,557,570,582

logV =(log M+ logLe)/2 logM;=—0,35[up—Us]

log Vg=(log M= logLo)/2 logLo=—0,35[uy~Us7q
=(logV - 4[logVd]) log©,=-0,35[y-u:,]?
=(logV + 4[logVd]) log =-0,35ly-u ]?

maximum

log(Vm)=-0,35
Vm=0,44
Schwelle

1 ML3 U
500 550 600 700 A/nm

DGA90-7A  507,545,557,570,607

logarithm. V , Vy-Daten uy=(A — 550) / 50

logV =(logMq+ logLo)/2 logMo=—0,35uj—Usz] R

logVo =logV + 0,02
log[Mo/V ,Lo/V, ]

557
545570

logL o=—0,35Ju)~Us7q]
Adaptation: Ay =557

maximum

MoV

-1 0 1 3
500 550 600 700 A/nm

DGA90-2A 545,557,570

logV =(log M+ logL)/2

u=(A - 550) / 50

logVg=(log M= logLe)/2 logM,=-0,35uj—Usz] :

logM =(logV - 1[logVd]) logL,=-0,35fuy~Us7q]
logL =(logV + 1[logV4]) Adaptation: A\ =557

maximum

log(¥)=-0,02

= Vm=0,95
Schwelle

500 550 600 700 A/nm

DGA90-4A 520,557,595
logV =(log Mo+ logLe)/2 logM;=-0,35u)—Us.]
logVg=(log M= logLe)/2 logL,=-0,35[uy—Uszq]
logP =(logV - 2[logVd]) logP,=-0,35[)~u ]2
logO =(logV + 2[Iong]) log0,=-0, 35[1A Usaz]
o ar0se2 e
‘maxlmum
log(¥»=-0,08
= Vim=0,81
Schwelle

500 550 600 700 A/nm

DGA90-6A 532,545,557,570,582

logV =(log Mo+ logLe)/2 logM;=-0,35u)—Us.]

log Vg=(log M= logL)/2 logL,=—0,35y—Uszd

log & =(logV - 4[logVd]) log©,=-0,35y~u: ]2
log =(logV +4[logVd) log =-0,350y-u ]2

557
545570

maximum

log(¥)=-0,35

= V=044
Schwelle

500 550 600 700 A/nm

DGA90-8A  507,545,557,570,607

V., Vo-Daten
V. =(Mo+Lo)2
Vo=V /0,95
Vo, V., Mo, Lo

uy=(A — 550) / 50
Mo ld 035U)\ ;,]2)
Lo 10(—0,35[u)- U570]2)
Adaptation: Ay =557

557
545570

maximum

log(Vm)=-0,02
Vm=0,95
Schwelle
tg=0,00

-3 vov -1 9 3 U
200 500 550 600 700 A/nm
DGA91-1A 545,557,570

v =10l(logMo +logLo)2] u,=(A — 550) / 50
2 =10l(logMo-log L)/2] Mo =10(-0,35[u\~us.?)
M =10l(logV —1[log Vd])] Lo =10(—0,35[u)~ U570]2)
L =10l(logV +1[logVd]) Adaptatlon AuL=557

557
545570
N

maximum

log(Vm)=-0,02
Vm=0,95
Schwelle
tg=0,00

~
-3 VOV _1 0 . 3 Uy
200 500 550 600 700 A/nm

DGA91-3A 545,557,570
v 1d(|ogM +logLo)/2] Mo= 1d 0,35[u)—Us.9?)
Vd 10l(logMo—log Lo)/2] o= o(—0,35[uy~us7q?)
10l(logV —2[log V)] p_=10(~0,35[p-Us:]?)
o 1d(|09V +2[logVdl)]l o,=10(-0.35x-uss2]?)
557 &

maximum

log(Vm)=-0,08
Vm=0,81
Schwelle

500 550 600 700 A/nm

DGA91-5A 532,545,557,570,582

v =10l(10gMo+logLo)/2] v =1¢(=0,35[x-Usad?)

Vg=1d(logMo=logLo)/2] | =1¢(~0,351x-Us7d?)
“Z10l(logV ~4flogVa])] ~°=10(-0,35(-u-- ]9
=1d(logV +4[log VgD =10(-0,35uy—u 17

545570

maximum

log(Vm)=-0,35
Vm=0,44
Schwelle
tg=0,00

700 A/nm

DGA91-7A  507,545,557,570,607

DGA91-7N

V., Vo-Daten
V.= (Mo+ Lo)/2
Vo=V /0,95
Mo/V , Lo/V

\ 557
545570

uy=(A — 550) / 50
M 1d (0] 35[IJ)\ ,1,] )
Lo =10(—0,35[up~us7q?)
Adaptatlon AuL=557

maximum
log(Vm)=-0,02
LoV Vm=0,95
Schwelle

—1 0 1
500 550 600
57,570

Vv 10[(|ogM +logLo)/2] u=( - 550) / 50
Vg =10l(logMo—-log Lo)/2] Mo =10(-0,35[u)~Us.?
M- =1d(logV. —1flog Vd])] | j=10(~0.35lux~Us7d?)
L =1d(logV +1[|09Vd])] Adaptatlon AuL=557

v
AY >1r>570 I
A ’

700 A/nm

0 maximum
log(Vm)=-0,02
’
S Vin=0,95
Schwelle

500 550 600 700 A/nm

\VJ 1d(|OQM +log Lo)/2] Mo 10( 0,35[uy—us 4%
Vg= 10l(logMo—log Lo)/2] Lo =10(-0,35[u)—Us7q?)

Z1(ogV —2[log V)] °=10(-0,35u--])
(o) 1d(|0gV +2[log Vd])] @ 1d 0,35[up~Uss]?)

v 7
\ msmﬁ%) I
A}

maximum
O"V 10g(Vim)=-0,08
i LV Vir=0,81
) Schwelle

ux
700 A/nm

500 550 600
Vv 1d(|09’\/| +IogL )/2] Mo 10( 035[U)\ Us, 1]2)
Vg=10l(logMo—logLo)/2] | =10(~0,35lx~Us7d?)
_1d(logv -4[log Vd))] _10( 0,35Uy-u-1?)
=10l(logVv +4[|09\{d])] =10(-0,35uy-u 19

maximum

log(Vm)=-0,35
Vm=0,44
Schwelle

DGA91-8A  507,545,557,570,607

-:lTUB-Prvaorlage DGAZ9; Relatives Farbensehen: 507(G), 532(P), 545-557-570(MVL), 582(
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